LOGARITHME NEPERIEN

lim [nx =-w lim [nx =+w ) : ImM:l @ : lim m—r=o @®: limx (nx=0
x—0" X —>+00 Xx—0 X X—>+0 x—0
Démonstrations :

In(1 + x) _ InL+x)-0 _ In1+x)—Inl _ u(X) —u(@®)

avec u(X)=Iln(X) et X =x+1

o X (x+1)-1 x+1)-1 X-1
donc lim Mz lim In0l+x)-0  lim Inl+x)-Inl _lim InX—-In1 —u@)=1
x—0 X x>0 (X+1)-1 x>0 (Xx+1)-1 Xx->1 X-1
2 Inx = In(&)z = 2In«/; = 2In«/; = i><M En étudiant les variations de «/;—Inx ona:
nx < VX o Lo xox A xfx_Wx Inx 1
Inx = 4/x Inx ~ Jx x X 1 X Wx
Par conséquent : lim Inx _ lim iXM=O car i4>0 & In+/x
X—+0 X X —>+00 & & & X—>+0 & X—>+00
(3)  On pose u = L donc: x.Inx=lIn1=£(-lnu):—|n—u
X u u u u
Par conséquent : lim x.Inx = fim — ™ _ 0 définition (2)
x—0 U—+oo u
f(x)= —o0 +00
1/10 1 inx 0*
X
2/10 xinf1+1 X
X
3/10 In(2x +1) - In(x +2) X
4/10 Inx 0
X
5/10 X —Inx 0*
X
6/10 x(1-Inx) X o*
7/10 Inf X+1 X 1
X—-4
1
8/10 =(nx-1) X e
X
9/10 X+1 X 1
Inx
10/10 X +In(x +1)-Inx X 0
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